Ax Bx C ®5 kg
Q96-ZCA-1-V 100x 78x 116 84+ 05x 62° 05 0.25
= 100x 78x 116 84+ 05x 62+ 05 0.45
Q96-ZCA-2b
Q96-ZCA-3a
Q96-ZCA-3b 100x 78x 116 84+ 05x 62° 05 0.40
Q96-ZCA-3c
Q96-ZCA-4a 100x 78x 116 84+ 05x 62° 05 0.50
Q96-ZCA-4b 100x 78x 116 84+ 05x 62705 0.50
Q96-ZCA-5 100x 78x 116 84+ 05x 62° 05 0.40
Q96-ZCA-6-4
Q96-ZCA—-6-6 100x 78x 116 84+ 05x 62: 05 0.25
Q96-ZCA-6-8
Q96-ZCA-7 100x 78x 116 84+ 05x 62705 0.40
Q96-ZCA-8 100x 78x 116 84+ 05x 62705 0.35
Q96-ZCA-2- 100 78x 116 84+ 05x 62705 0.45
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5.0

2kv 50Hz 1
-10 +55
P22
2 100Hz < 0.7g
< 85% RH
U< 70% 100% Un
u> 100% 130% Un
0.1s 15s

AC 250V 5A DC 28V 5A

Un DC 24V 36V 100V 220V
u DC 24V+ 25%
35mm M4
DC 24V
U< T1
u> T2
U
DT T2l T3] T4 T T51 T6I 171 T¢]
U< u>
9T T T vzl T Tl Trel ol Tl
C_J 1 C_J

SFmiF-C=>

U< spanl Relay! Power U> span2 Relay2

]

0;

S

QDDDDDDDDDDDDDDD

U<

u>
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5.0

2kv 50Hz 1

-10 +55

P22

2 100Hz

< 85% RH

100% 400% In

> 50% 150% In
0.01s 1.5s
0.1s 15s

AC 250V 5A DC 28V 5A

< 0.7g

I>>

In AC 1A 2A 3A 4A 5A
45Hz 65Hz
U AC 100V 220V 380V 450V
DC 24V
35mm M4
|>>
|>>
>
1>
L1
L2
L3
CT CT CT
U
DL T2l T8 T4 T TsT T6] T71 T8]
X1 X2 11 12 13
I>> I>
[of Twol Tul Tiof T TisT Tia] TisT Ti6]
L_TI 1 L_I 1

e

%

SrAiF-C=>

I>> spanl Relay! Power 1> span2 Relay?

DO DDDDDDDDDDD
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5.0

2kv 50Hz 1
-10 +55
P22
2 100Hz < 0.7g
< 85% RH
U< 70% 100% Un
u> 100% 130% Un
0.1s 15s

AC 250V 5A DC 28V 5A

Un AC 100V 220V 380V 450V
45Hz 65Hz
U AC 100V 220V 380V 450V
DC 24V
35mm M4
U<
U<
U
u>
L1
L2
L3
N <
1
I
u |
DT T2l o7 TeT T 5T Tel T7 Te]
X1 X2 L1 L2 L3 N
U< u>
[oT Tl Tl Tl T Tl Tl Twl Tisl
C_T 1 C_J 1

L1

L3

SFmiF-C=>

U< spanl Relay! Power U> span2 Relay2

Folgo:

min_% max 0s T

[ ]
min_% max

0 s 0s
[of Trof Tui] [ie] [ Trs] [ia] [vsT Tie]

QDDDDDDDDDDDDDDD

T1
T2
I
\MAMJ !
PT :
U 1
[T T2l T3T T4 T TsT Te6l T7T Tsl
X1 X2 L1 L2 L3 N
U< u>
[ol Tiol Tl Tiol T Tus] Tia] Tis] Tiel
L_J 1 L _
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5.0
2kv 50Hz 1
-10 +55
P22
2 100Hz < 0.7g
< 85% RH
P> 25% 125% Pn
-P> 1% 25% -Pn
0.2s 20s
0.2s 30s
AC 250V 3A DC 28V 3A
AC 250V 5A DC 28V 5A
AC 100V 220V 380V 450V

AC 1A BbBA
45Hz 65Hz
35mm M4
P>
T1 P>
P>
L1
L2
o o L3
CT CT
1
T T2l To] T4 T TsT T6 T71 Tsl =
L1 L2 L3 11 13
P> P> -P>
[of Twol Tul Tiof T Tis] Tia] TisT Ti6]

L 11 J L T 1

SrAIF-C=>

spanl Relay! Power -P> span2 Relay?

o

DO LLDD0LDDD

%,

78,

1 P> 12 13
T2 P>
\M}\MJ * >
PT CcT CT
1
LT Tel T8T T4l T TsT 6l T771 Te] =
L1 L2 L3 11 13
P> P> -P>
[oT Tiof Tul Tiol T Ti3T Tual Tis] Tie]
L_1 1_J 1 L _J 1



5.0

2kv 50Hz 1
-10 +55
P22
2 100Hz < 0.7g
< 85% RH
-P> 1% 25% -Pn
0.2s 30s

AC 250V 5A DC 28V 5A
AC 100V 220V 380V 450V

AC 1A 5A
45Hz 65Hz
35mm M4
P>
L1
L2
L3
CT CT
1
I P Y 5 3 I 6 A =
L1 L2 L3 11 13
-P>
(5T Trol T w2l T Tws] Trel el Tisl
L_T 1

SrmiF-C=>

Power -P> span  Relay

o

(@]
min_% max ST

[of Tiol Tii] Trol [ Twe] Tial Tis]

DDAV DY

Q00D

T2 P>

L1
L2
L3

\MAM]

PT CcT CcT

£
LT Tof T8 T«T T TsT T6T T77 Te] -
L1 L2 L3 11 13
-P>
[of Tiof il Trol T i3] |1|4_| [1s] Tie]
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5.0
2kv 50Hz 1
-10 +55 A

f< spanl Relayl Power f> span2 Relay2
P22 [ ) o e )
2 100Hz < 0.7g
< 85% RH

DDDDDDDDDDDDDDDD

f< 90% 100% fn
> 100% 110% fn

0.1s 15s
AC 250V 5A DC 28V 5A
fn AC 50Hz 60Hz 400Hz
AC 100V 220V 380V 450V
35mm M4
f< T1 f<
> T2 f>
U
T T2l T1 T4l T T51 T6l T71 T8]
X1 X2
f< >
[9T Tio] T Ti2] T Tl Tia] Tis] Tie]
C_T 1 C_T 1
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5.0
2kV 50Hz 1
-10 +55
P22
2 100Hz
< 85% RH
0.7v+ 0.1V
AC 250V 3A DC 28V 3A
DC 24V
DC 24V+ 20%

< 0.79

un

35mm M4

DC 24V

1v

24V 24V 24V 24V

[T T2l TsT T4l T TsT T6T T7T Tsl
Vin  GND

[ol Tiof Tuifl T T T T T T T Tiof Tis]

L_T 1 lU

%,

%

%,

%,

%,

SrmiF-C=>

787,

Power

%0,

%,

%87,

%,

728917,
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5.0

2kV 50Hz 1

-10 +55 ST
2 100Hz < 0.7g

< 85% RH

DDDDDDDDDDDDDDDD

U< 70% 100% Un
u> 100% 130% Un

0.1s 15s
AC 250V 5A DC 28V 5A
Un AC 100V 220V 380V 450V
45Hz 65Hz
u AC 100V 220V 380V 450V
DC 24V
35mm M4
U< T1 U<
u> T2 u>
L L
N N ]
PT
U U
T T2l T3] T4l T TsT T6l T71 Te] I P Y 3 3 I 6 I
X1 X2 L1 L2 X1 X2 L1 L2
U< u> U< u>
(8T Trol Tt w2l T Tl Trel el Tl (5T Trol Tri T2l T Tl Trel Tl Tisl
C_T 1 L_T 1 C_T 1 C_T 1

A 085



5.0

2kV 50Hz 1
-10  +55 AT 0

Power 1> span  Relay

P22 e o
2 100Hz < 0.7g

min_% max ST

(37 Tl [ Tl T[] Tul Js[ [i]
< 85% RH

> 50% 150% In
0.1s 15s
AC 250V 5A DC 28V 5A
In AC 1A 2A 3A 4A b5A
45Hz 65Hz
] AC 100V 220V 380V 450V
DC 24V

35mm M4

QDDDDDDDDDDDDDDD

> T >
L
N
CT
v 1
DL T2l T8 T4 T TsT 6] T71 T8] =
X1 X2 |
1>
[of Twol Tul Tiof T TisT Tia] TisT Tis]
L_T 1
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5.0 :

2kV 50Hz 1 S CB
-10 +55 [ob [eloflolelel
P22 $5%s i 55

2 100Hz < 0.79 200D DD000DDDDD
< 85% RH -

AC 250V 5A DC 28V 5A
AC 250V 10A DC 28V 10A

In AC 1A 2A 3A 4A 5A
45Hz 65Hz
u AC 220V 380V 450V
35mm M4
AU 10 Af £5
90 110 5 15
120 150 10 25
200 300 0.1 1
50 70 0.5 1.5
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